HR%E

=

MATIRE RS 113 BFEF 2 BHEHEEIER 5 F4)

* 1. RSMLEFEE "4 : 50 B, -

2. MBABD WG RRBEASMAE -

T

230 I3k 4-5 E4&
231 #EE41HIK 3-5 4R
232 BERIM

233 BREEREN
234 IR EHBE

323 3K 5 4R

326 EIGHERC E AR 3-6 4R
327 TETUBEABERE 2-6 FAR

329 B

331 BIZ2=H 2-6 &

402 hFERH2RE

524 7K 3-6 F4R(1.5H)
528 lnEE

529 REHEVIE 2-6 FR
530 TEZL Bk 4B #IPE 2-6 F4R

531 HEE#IPE— (50 B ERZ5

51

223Scratch ERGE AT 153 3-6 F4R
224 FTEIEFPT 2-5 F4R

225 B IRIEII 5-6 F4&

226 X[ZRERIBFREIEI 5 F4&

227 R E 4-5 FR

228 B 4-6 F4R

319 EXEEBIBEFIHI 3-6 F4&
320 TELERER 2-6 F4R

7+ 235 REBBAIF— 333 BgEE— [ TTBERREANT ) 533 BIEM T 1T E M 3-6 F£4H—
tmig [ BAEI AT BB 5] 334 BEER— [BEEE] [E425K]
236 Rt 4-6 4 336 443 8 HHEH(LH) 537 3D BUEN&RET 5-6 EAR(LH)
237 TEEREFIF 3-6 £ 337 = 538 SPIKE #28 A 4-6 E4(1H)
241 axE 338 \EE 539 #HZ
244 = 540 /NZE
245 INRE
T 202 %38 5-6 £4& 302 24 5-6 E4& 502 %23 5-6 4R
214 FEFHIEH 4-5 R
216 BN ERIEH 4-5 F4
217 ERMEBA AR EIEI 5 £4
218 BRFEIE I 4-5 E4R
219 1ETIE 4-5 4R 316 SKBx 516 kB
. 221 BRI IR 5-6 E4 317 BIEE 3-6 £4 518 B 4-5 E4&
geﬁgg 222 EIsREIE 3-6 T4 318 RIE 4-6 4R 520 EiZ=L4BRE 4K 2-6 £ 4R

521Future Heir /A DJ 4-5 &4k
522 BAAIRERK 4-5 4k

+

E=1113 +
I A
gD

=
p=|

2464:50 B#

3394:50 B

5414:50 B







